KHTE #HEER

KE=ZERT. BMYUPBORE LI —BEET 270,

SM7TE07TB29H (A FEH) 135589
HENE - [ SHTE (KFER) 13855849

Bl

SM7E07A298 (KEER)

At ERFTTEROBERNRIEZ—HLBWHEEDLH D,

Y AR iERS) E=F [Ekzikax: = BIELE
L5 779 110,921 2,000 113,700 71 %
R=E 1,129 59,637 60,771 111 %
=1 1,908 170,558 2,000 174,471 8l %
Bfi i kg, M
Bk ma HFEHE |MRetaE #HEAR — Eﬂ%{aﬂ% —
FEM aniE Hi| =& & =&
HE|ZTWIA 7,130 | BN 7,130 (dbiEE 10 | 1,188 | 1,080 | 1,026
& 10 | 1,188 | 1,080 972
£ 10
ICA LA 5,080 | #Exd 5,080 [E#* 10 | 2,376 1,944
e 10
&b 10 | 1,188 | 1,080 756
Fry 4,300 |€ Y A#L 100 |35 10 864
=F 10
By 10
GERS 4,200 |5 10 972 864 594
=F 10
BH 10
L &= 4,975 | €Y AL 40 | =¥ 10
5 10
By 10
GERS 4,935 | RE 10
5 10
&b 10
F<EWn 1,700 & W AL 120 | K% 15
5 12
By 13
GERS 1,580 |R% 15
5 12
&b 13
ZEOhk 717 (€Y AR 40 |2 0.2 65 59
HR 0.5
B 0.5
GERS 677 |3 0.2 43 32
B 0.5
£ 0.5
E>NAZS 718 (€Y AR 30 |E% 0.2
A 0.17 108 81
b 0.2 108
GEDSH 688 |5 0.2 162
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- SMTETA29E (KIER) 138589

HIFTHE - @&
KHTE #HHETR SM7E07A298 (KER)
Bifif : kg, M
NI S I EIFEAmIE
x| w4 HFEHE |RFTHE HEARR IEm ey AN s &
N 0.17 162 130 76
£ 0.2 184
h&E 2,151 | 8% 2,151 |38 5 1,836 648
FEE 5 864
By 5 1,944 756 648
Tl 11,367 |& Y AAL 150 |2 % 5
=F 5
£ 5 1,836 864 540
iEpS 11,217 |B & 5 2,376 | 1,296 | 1,080
=F 5
BH 5 2,376 | 1,512 | 1,404
MED % 5,170 | #8xd 5,170 [#z)1 10
B3 10 | 3564 | 2,376 | 2,160
By 10 | 3,456 2,376
AN 4,086 | &Y AL b4 |BtE 0.4 140
HAR
B 4
ERS] 4,032 |BtE 0.4 194 184
HAR 5
By 4 1,944 [ 1,296 756
k< b 4,581 | #@xd 4,581 |dtimE 4
=F 4 1,944 | 1,728 | 1512
& 4 1,944 | 1,296 | 1,080
Sl Sl 1,029 | #Exd 1,029 |8k 3 1,620 1,512
JtimE 3
i 0.2 173 151 108
- 3,548 | AN 3,548 |3 0.15 108 97 92
=F 0.15 140 130 124
BH 0.15 119 76
ED2BAZL 5,870 | #Ex 3,870 |ZRiE 5 864 648
FE 5 324
By 5
[Py 2,000 | 2%, 5
FEE 5
BH 5
*Z 702 | B Y AR 48 |EBIR 0.08
=N 0.07
By 0.08
X 654 |EEIR 0.08 92 86
Al 0.07
£ 0.08 92 76 65
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SMTE0TH29H (KEEH) 13655849

HIFTHE - @&
KHTE #HHETR SM7E07A298 (KER)
B kg, M
¥ w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
LAIZA S Y 912 &Y AL 18 |# & 3
= I 3
By 5
ERS] 894 B+ 3 1,296 972 864
=y 3
By 5
WAITA 392 | #Ext 392 | S 2 3,240 [ 1,944 | 1,620
ZiH, 2 864
By 2
Z1EED 694 | At 694 |B£5E 0.25
BE 0.3
i 0.25 270 216
BEFNAES) 15,140 | 8% 15,140 [Z%3% 10 | 2,160 [ 1,620 | 1,080
e 10
Z b 10 | 1,728 | 1,620 | 1,404
TmERE 8,820 | #Axd 8,820 | &E 20
=1 20 | 3,024 2,376
By 20
Z Dt EF 24,618 €W AAL 179
GERS 24,439
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- SMTETA29E (KIER) 138589

HIFTHE - @&
KHTE #HHETR SM7E07A298 (KER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
REIVAZ 2,930 | #Bxd 2,930 [BF& S U 10 | 8640 | 7,560 | 7,020
7L 2,600 | A8 2,600 |{£%& =K 5
13 [ K 5
&b K 5
HH 12,031 | €Y AR 1,129 [1L& 5 2,484 | 1,620 | 1,404
RS 5
BH 5
GERS] 10,902 |iLEY 5 5,400 | 4,104 [ 3,780
BS 5 4,320 | 2,160 | 1,944
By 5
ERES 1,719 | B 1,719 |LiEd 0.5 238 216
i 0.5 378 324 270
&b 0.5 432
RES 3,387 | #Ex 3,382 | LT 57| 2 | 2160 1620 1,512
KB 77|03
K FT7IxT | 2
e vy Ar<AA|l b 9,720
[ L AR A| 5
&b svAv<zxAl 5 | 21,600 | 19,440
g E & 0.4 594 540 486
& ] E g 0.35
£ E & 0.35 702 486 432
fe 1Ly T LF 0.75
B=# 5 |WLFE Fo5xT7 | 2
KBk FZ77x7 |03
Ky F7IxT | 2
s vy A r<wAA|l b
[ v Av<wRA| 5
&b svAv<wxAl 5 | 19,224
TES E & 0.4
& ] E g 0.35
B E g 0.35
fe 1L T LF 0.75
T—ILZA XAV 4,042 | #Exd 4,042 |E&hH 1
R 8
B 9
A0V 1,062 | #8x 1,062 [T 5
I 5
B 5 2,700 1,944
R = 722 | A%t 722 [lLFe 5 2,376 | 1,296 | 1,080
FE 5




KHTE #HEER

M . i SMTE0TA298 (KEEH) 138584
SM7E07TH298 (KEER)
Bif t kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
By 5
TYTARAOYV 60 | #Exd 60 [1LFZ 5 2,376 | 2,160 [ 1,620
I, 5
By 5
ERAY. 29,712 | % 29,712 WL 13 | 45860 4,320 3,024
FE 13
By 15 | 2,700
Z DMRE 2,506 | #Ex 2,506
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